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The Distributive Property in Arithmetic
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1 Fill in the blanks to make this equation true.

5x(8+3)= HFx8 + H x3

2 Fill in the blanks to make this equation true.

6x(12-9)=6x%x12 -6x 9

Use the Distributive Property to simplify this
expression. (Show your work!)

3 x(8+10)
3x8+3x10
24 + 30

3

Use the Distributive Property to simplify this
expression. (Show your work!)

4

7 x (11 -5)
7x11-7x5
77 - 35

Use the Distributive Property to simplify this
expression. (Show your work!)

5

4x(3+9-2)

4x3 + 4x9 - 4x2
12+36-8
48 - 8

Use the Distributive Property to rearrange
this multiplication problem so it is easier to
do mentally. Then simplify it.

5x%x29
5x (20 +9)
5x20+5x9

100 + 45
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Use the Distributive Property to rearrange
this multiplication problem so it is easier to

do mentally. Then simplify it.

8 x 82
8 x (80 + 2)
8x80+8x2
640 + 16

|

7

Use the Distributive Property to rearrange
this multiplication problem so it is easier to
do mentally. Then simplify it.

3x 158
3 x (100 + 50 + 8)
3x100+3x50+3x8
300 + 150 + 24
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See Video for step-by-step
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solutions to each problem.



